
TG • Grade 3 • Unit 2 • Daily Practice and Problems   

Change

1. You go to the store with $1.00. You buy a pen that costs 73¢. There
is 6¢ tax added to your cost. How much change will  you get?

2. What coins could you get in change? How many different ways can
you answer this question?

Quick Addition

Do these problems in your head. Write only the answers. 

A. 4 + 9 = B. 40 + 90 = 

C. 20 + 90 = D. 20 + 30 = 

E. 30 + 50 = F. 40 + 60 = 

G. 10 + 90 = H. 60 + 80 = 

I. 80 + 70 = J. Show or tell your strategy for Problem I.
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